


Приложение 1



Тест

 
1. Решить уравнения:
а) (х+3)(х-6)=0 
1) х = 3, х = -6      2) х = -3, х = -6          3) х = -3, х = 6 
б) -7(3,5-х)=0   
1) х = 3,5              2) х = -7                      3) х = -3,5
2. Округлить число 253,355 до десятых:
1) 253,4                2) 253,3                       3) 253,35
3. Выберите наименьшее число:
1) -13,5                 2) -32,8                       3) -40,2
4. Выбери наибольшее число:
1) -12,4                2) -43,5                        3) -12,2

5. Расположите в порядке возрастания: 
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